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ECONOMICS

AT

Time allowed : 3 hours | [ Maximum marks : 100

e @a7 : 3 502 ] [ aiférmam 3 : 100

General Instructions :

(i)  All questions in both the sections are compulsory.

(ii) Marks for questions are indicated against each.

(iii) Question Nos. 1-5 and 17-21 are very short-answer questions carrying 1 mark each.
They are required to be answered in one sentence each.

(iv) Question Nos. 6-10 and 22-26 are short-answer questions carrying 3 marks each.
Answers to them should normally not exceed 60 words each.

(v)  Question Nos. 11-13 and 27-29 are also short-answer questions carrying 4 marks
each. Answers to them should normally not exceed 70 words each.

(vi) Question Nos. 14-16 and 30-32 are long-answer questions carrying 6 marks each.
Answers to them should normally not exceed 100 words each.

(vii) Answers should be brief and to the point and the above word limits should be
adhered to as far as possible.
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(i1)
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(iv)
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(vi)

(vii)
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T¥T GEIT 6-10 3717 22-26 TITRIHF T &, 19778 Td%h & 3 37 & | Hed® 1 I AT
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SECTION - A
e - A

Give two examples of Microeconomic studies. 1

e e 37397 & ¥ IR0 BI9T |

When is the demand of a commodity said to be inelastic ? 1

Teh TG I T TATIIR HF FgT AT & 7

Define fixed cost. 1

R T =t aitamT ST |

What causes a downward movement along a supply curve ? 1

Ifq o5 W A1 S SR ST 7 34T HROT 21 § 2

Define monopoly. 1

TSR 1 IS ST |

Why does an economic problem arise ? Explain. 3

OR

Explain the problem of ‘“What to produce’.
T FHET T ST el & ? WHEE |

AYAT

‘T IR L I THET AT |

Distinguish between a normal good and an inferior good. Give example in each case. 3

T ] SR =i o & S SR Ta1sg | Hedeh i 3T g |

How is the price elasticity of demand of a commodity affected by the number of its
substitutes ? Explain. 3

TS T 1 W7 I HIET AT IHH AT TG F G | H wIfa it € ? T |
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the help of a schedule.
TF ST I FerFal ¥ Y ¥ gig’ 3R ‘yfa-umn | gig’ & o7 ¥Heey |

10. Why is a firm under Perfect Competition a price-taker ? Explain.

QU JIEITaT 3 3T=T1d BH ShiFa SR 3 sl ¢ 7 T2y |

11. Complete the following table :

Output Average Variable Total Cost Marginal Cost
(Units) Cost (Rs.) (Rs.) (Rs.)
60 20
2 18 e e
3 e —emeee 18
-+ 20 120 e
5 22 e e
OR
Complete the following table :
Output Price Total Revenue =~ Marginal Revenue
(Units) (Rs.) (Rs.) (Rs.)
4 9 36
I 4
6 e 42 e
v 6 e s
8§ e 40 -
frfefiaa afersr i Q1 Fifse
IcARA I\ TRt AT F AT T AT
(FFTeA) (%) (%) (%)
) 60 20
2 18 e e
3 e e 18
4 20 120 —mmmmeee
5 22 e e
AUt
frefafad arfe @ @ ST
IARA HET Eggheiilic] | W
(3TEAN) (¥) (%) @)
+ 9 36
5 mmmemee e 4
6 emmeeee 42 e
7 6 ————e- ————e-
8 e 40 —mmmeee-
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13.

14.

15.

from 400 units o 500 umits due to a 20 percent rise in its price. Calculate the
percentage fall in supply of Y if its price falls by 8 percent.

3 2 S A, TR o SR, o - ¥ sty - e ~ ~ L [
XIRY /A F I 5 s o= sak £ | X T FE 7 20 Waed 315 9 9 399 g

400 THTE ¥ TEF< 500 THE & W1 § | A Y FT FEa § Wiwd gedt § af SuEl gfd | g

TTAT UTeTeTd SHHT ST YA ST |

From the following schedule find out the level of output at which the producer is in
equilibrium. Give reasons for your answer.

Output Price Total Cost
(Units) (Rs.) (Rs.)

1 24 26

2 24 50

3 24 72

4 24 92

5 24 115

6 24 139

7 24 165

FrfefEa TR § 3R 1 98 WX A HIT (9 T IS Gqor o (aq g | 370
IR % ferg Hror i

IARA HrAd Fe AT
(FFTEN) &) ()

1 24 26

2 24 50

3 24 72

4 24 92

5 24 115

6 24 139

7 24 165

Explain the causes of a rightward shift in demand curve of a commodity of an
individual consumer. '

OR
Explain the conditions of consumer’s equilibrium in case of (i) single commodity
and (ii) two'dommodities. Use utility approach.

@mﬁaﬁwlaﬂaﬁﬁraﬁﬁmﬁaﬁTW%wﬁaﬁwaﬁﬁm

rerar
(i) T %] 3R (i) I TR F Rafq F ST & o B VG B AT HI9T |
IuifTen faversor y@T HifT |

Giving reasons, state whether the following statements are true or false :
(i) When there are diminishing returns to a factor, total product always decreases.
(i) Total product will increase only when marginal product increases.
(iii) When marginal revenue is zero, average revenue will be constant.
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16.

17

18.

19.

HROT It U TR 15 FATotrad 9 Wel € 91 Terd |

(i) 9 UF FRF F Ted Aawel i fafd gt € G Fot ST 39 g1 € |
(i) S SR % Fe W & Fel S TS |

(iti) 79 ST e I aret & o i st R g |

With the help of a diagram explain the effect of “decrease” in demand of a
commodity on its equilibrium price and quantity. 6
For blind candidates only in lieu of Q. No. 16 :

Define equilibrium price. How is it affected by a “decrease” in demand of a
commodity ?

T %] I AT H “FHHP % IHh! Yoot HHe SR A WG9S B T J@ B FeFdr @

SR HIT |

et gied= whantoal & Ry . 16 F =AW :

T I i TRCATHT ST | 8 &g i AT F “FHHT T4 | H8 THId sreft & 7

SECTION -B
Qqug -
Why is repayment of loan a capital expenditure ? 1

1 %} ST o =T S ?

What is meant by excess demand in Macroeconomics ? 1

FAME ST | | ST 1 =7 319 & 2

What can be the minimum value of investment multiplier ? 1
TE9T T[UTe ST AT W T B TR § 2

Define bank rate. 1

dF ST T R ST |

Define involuntary unemployment. 1

3T SISTRT i GICHTST &Y |

Complete the following table : 3
Income Saving Marginal Average
Propensity to Propensity to Save
Consume

0 i
20 =6
40 U O O e
60 P BRRRCL s W S SECRE

frferiaa afers = 1 ST
K101 Tq i 3T 3raa T=

0 -12

20 T e e
40 B Ry A e e D07 et S o
60 B L ENRO BRI Ny TR N NORSHES
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23. State any three points of distinction between Central Bank and Commercial Banks.

HET §F R TG T & 9 HIE J+ H=1ar garey |

24. How can a government budget help in reducing incqualities of income ? Explain.
A T AT T FH FRA T FRT Io7¢ [T TFR TeTTF &l TohaT € 7 THened |

25. Explain the circular flow of income.
OR
Distinguish between intermediate products and final products. Give examples.
3 % THIA TaTE AT HT |
HYUAT

TeEEd! 3cqTg 3R S Ieg | 9 HIT | ST AT |

26. List the items of the current account of balance of payments account. Also define
‘balance of trade’.

AT e @I o =16 @ 1 Hel bt GElt qT8T | SR Seer ot arere off i |

27.. Explain the meaning and two merits of fixed foreign exchange rate.
OR

Explain two sources each of demand and supply of foreign exchange.

e forelt fafm <1 & a1l 3R 33s & Tt =t =TT Y |
rera
forit 7z 1 | 2R qfa & FA-3F Hial AT FAT |

28. State the four functions of money. Explain any one of them.

T % 9 FF TARY | 374 | T4l U ! SARAT iy |

29. Distinguish between :
(i) Direct tax and indirect tax
(ii) Revenue deficit and fiscal deficit
frfead o 88 Hif
() Ve X 3T ATCTL TR
(i)  TST H1ET 3R TSTHINIT =T

30. How will you treat the following while estimating domestic factor income of India ?
Give reasons for your answer.
(i) Remittances from non-resident Indians to their families in India.
(i1) Rent paid by the embassy of Japan in India to a resident Indian.
(iii) Profits earned by branches of foreign bank in India.
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AR ST I 37T HT hel o THT 217 F=Tetiad & T a1 SFaei 3l 7 3104
I F fore HRoT ST |

() e IRAE! gRT 9RA § 379 TReRt Sl Seit 78 el |

(il) ¥RA T YA % JATETS FRT et SR i <@ &1 6 |

(iii) 9Ra H foqen o wt rEret gR i @y |

31. Given consumption function C = 100 + 0.75 Y (where C = consumption expenditure
and Y = national income) and investment expenditure Rs. 1000, calculate : 6
(1) Equilibrium level of national income.
(ii)) Consumption expenditure at equilibrium level of national income.
OR
What changes will take place to bring an economy in equilibrium if
(i) planned savings are greater than planned investment and
(i) planned savings are less than planned investment.

I ST e C = 100 + 0.75 Y (ST C = SUHM =33 a1 Y = UL 371) 3R few =
1000 . B a7 T I :
(i) T 3 1 WA TR
(i) L A F I TR W ITHT
Fear
TS T i el i afq § o & fo F/an aied= e afg
(i) THeitTa s=a it Haw @ st &t 3R (1) Fatsa s9d HEia Fem R 9 e |

L

32. Calculate “gross national product at factor cost” from the following data by
(1) income method, and (ii) expenditure method : 6

(Rs. in crores)

(i)  Private final consumption expenditure 1,000
(i1)  Net domestic capital formation 200
(iii)  Profits 400
(iv) Compensation of employees 800
(v)  Rent 250 -
(vi) Government final consumption expenditure 500
(vii) Consumption of fixed capital 60
(viii) Interest 150
(ix) Net current transfers from rest of the world (-) 80
(x)  Net factor income from abroad (- 10
(xi) Net exports (=) 20
(xii) Net indirect taxes 80
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frfafas swet § (i) o fafy 3R (i) =79 f&f R “HRE @ W Jhel TS 3R FH
IR HIT |

(T. IS H)
() it stfam o s 1,000
(i) Fraer el Yt Fmior 200
(i) ™ 400
(iv) FHEIRET S RS 800
(v) e 250
(vi) TR A=TH 3UHT =T ' 500
(vii) Tt it T ST 60
(viil) =TT 150
(ix) i fava @ YoiR awiaror (-) 80
(x) fozwi & fraer w1 o (-) 10
(xi) Taer fara (-)20
(xii) TaeT TereT 80
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